## Pricing Summary for Purchases of Vermilion Snapper by WILD SEAFOOD Co., LLC, 2014-2015

Jason Delacruz

SEDAR45-WP-06

27 August 2015



This information is distributed solely for the purpose of pre-dissemination peer review. It does not represent and should not be construed to represent any agency determination or policy.

Please cite this document as:

Delacruz, J. 2015. Pricing Summary for Purchases of Vermilion Snapper by WILD SEAFOOD Co., LLC, 2014-2015. SEDAR45-WP-06. SEDAR, North Charleston, SC. 8 pp.

## Pricing Summary for Purchases of Vermilion Snapper by WILD SEAFOOD Co., LLC, 2014-2015

The following constitutes the purchases of vermilion snapper by WILD SEAFOOD Co., LLC from 1 January 2014 through 21 August 2015. WILD SEAFOOD Co., LLC is a federally licensed seafood dealer, and all purchases of vermilion snapper represented herein were from properly licensed commercial fishermen. For 2014, the dockside unit prices for vermilion snapper range from \$0.01 to \$3.75, with an average price of \$2.07. For the available portion of 2015 (1 January through 21 August), the dockside unit prices for vermilion snapper range from \$0.01 to \$3.00, with an average price of \$1.70. A "dockside unit" is defined as a pound of whole fish. Many factors can affect the price per pound offered per unit of fish sold.

For more information on this material, please contact Jason Delacruz at <a href="mailto:salty398@aol.com">salty398@aol.com</a>.

## **Summary By Species**

01/01/2014 To 12/31/2014 / 213 - SNAPPER, VERMILLION (B-LINER)

WILD SEAFOOD CO. LLC. WD0189023 SERO: 2281

Printed: 08/14/2015

Γicket Prefix: ZW 213 SNAPPER, VERMILLION (B-LINER)		B-LINER)	<u>Oty</u> 788.40	<u>Price</u> \$2.07	Total \$1,628.32
	Total Quantity	Average Unit Price		Grand Total	
	788.40	\$2.07		\$1,628.32	

Ticket Num	UnloadDat Fisherman's Name	Count / Size	Qty	Price	<u>Total</u>
0000292	01/17/2014	HELENIA WILLIAM	2.00	\$2.00	\$4.00
0000296	01/22/2014		2.00	\$1.25	\$2.50
0000300	01/29/2014	Mark Control of the C	3.00	\$1.25	\$3.75
0000303	02/01/2014	No. of Contract of	1.70	\$1.00	\$1.70
0000310	02/12/2014	The state of the s	3.00	\$0.01	\$0.03
0000311	02/05/2014	10 Table 100	12.00	\$2.00	\$24.00
0000321	02/22/2014	Charles West 16	1.30	\$1.25	\$1.62
0000322	02/19/2014	0.3216 (5)	9.40	\$2.00	\$18.80
0000332	03/10/2014		0.80	\$1.25	\$1.00
0000335	03/14/2014		1.00	\$2.00	\$2.00
0000338	03/17/2014	THE RESIDENCE OF	1.00	\$2.00	\$2.00
0000339	03/23/2014 F		2.20	\$1.00	\$2.20
0000341	03/26/2014		3.00	\$2.00	\$6.00
0000345	03/30/2014	100 F	0.70	\$2.00	\$1.40
0000349	04/06/2014		2.80	\$1.25	\$3.50
0000354	04/07/2014		1.00	\$0.01	\$0.01
0000355	04/18/2014	5	2.00	\$2.50	\$5.00
0000361	04/28/2014		1.00	\$2.00	\$2.00
0000366	04/26/2014		0.80	\$1.25	\$1.00
0000370	05/02/2014		0.50	\$1.25	\$0.63
0000371	05/05/2014		2.00	\$1.25	\$2.50
0000375	05/07/2014	The state of the s	23.00	\$2.00	\$46.00
0000377	05/07/2014		0.60	\$2.00	\$1.20
0000378	05/12/2014	6	13.00	\$2.00	\$26.00
0000380	05/20/2014	1+	16.00	\$3.75	\$60.00
0000380	05/20/2014	1-	9.00	\$3.25	\$29.25
0000382	05/23/2014		1.00	\$1.25	\$1.25
0000384	05/24/2014		5.00	\$2.00	\$10.00
0000386	05/26/2014		6.00	\$2.00	\$12.00
0000387	05/16/2014	under I	22.00	\$2.00	\$44.00
0000387	05/16/2014	1-2	4.00	\$2.75	\$11.00
0000390	05/22/2014		0.70	\$2.00	\$1.40
0000391	05/25/2014		3.00	\$1.25	\$3.75
0000396	05/30/2014		18.00	\$2.00	\$36.00
0000398	06/01/2014		5.00	\$1.25	\$6.25
0000400	06/02/2014	66	6.00	\$2.00	\$12.00
0000402	05/26/2014		0.90	\$1.25	\$1.12
0000404	06/09/2014		13.00	\$1.25	\$16.25
0000407	06/11/2014		77.00	\$2.50	\$192.50
0000408	06/11/2014		5.00	\$2.50	\$12.50
0000411	06/13/2014		28.00	\$2.00	\$56.00
0000416	06/17/2014		5.00	\$2.00	\$10.00 \$2.00
0000417	06/17/2012		1.00	\$2.00	\$10.00
0000418	06/21/2012		5.00	\$2.00	\$10.00

213	SNAPPER, VERMILLION (B-LINER)				
Ticket Num	UnloadDat Fisherman's Name	Count / Size	<u>Otv</u>	<u>Price</u>	Total
0000419	06/18/2014		1.20	\$2.00	\$2.40
0000420	06/20/2014	6	5.00	\$2.00	\$10.00
0000422	06/27/2014		18.00	\$2.00	\$36.00
0000424	06/26/2014		2.00	\$2.00	\$4.00
0000425	06/28/2014 014		2.00	\$2.00	\$4.00
0000429	07/03/2014		1.00	\$2.00	\$2.00
0000433	07/14/2014		45.00	\$2.50	\$112.50
0000434	07/10/2014 Production		0.20	\$1.50	\$0.30
0000437	07/16/2014		28.00	\$1.50	\$42.00
0000439	07/13/2014	less .75	22.00	\$0.60	\$13.20
0000442	07/13/2014		3.00	\$2.00	\$6.00
0000445	07/19/2014		1.00	\$1.25	\$1.25
0000448	07/23/2014		38.00	\$2.50	\$95.00
0000452	07/27/2014		10.00	\$2.00	\$20.00
0000453	07/31/2014 P		39.00	\$2.50	\$97.50
0000457	08/02/2014	6	13.00	\$1.25	\$16.25
0000457	08/02/2014	56	37.00	\$2.00	\$74.00
0000467	08/13/2014		3.00	\$2.50	\$7.50
0000468	08/15/2014		13.00	\$1.25	\$16.25
0000469	08/15/2014 I		7.00	\$2.50	\$17.50
0000470	08/13/2014		4.00	\$2.50	\$10.00
0000474	08/21/2014	•	8.00	\$2.50	\$20.00
0000475	08/21/2014	<b>1</b> 6	0.70	\$1.50	\$1.05
0000476	08/21/2014		2.00	\$2.00	\$4.00
0000479	08/27/2014	crew	5.00	\$0.01	\$0.05
0000473	09/02/2014		0.90	\$2.50	\$2.25
0000489	09/09/2014 (2)		2.00	\$2.00	\$4.00
0000490	09/08/2014	96	3.00	\$2.00	\$6.00
0000497	09/15/2014		1.00	\$1.25	\$1.25
0000502	09/20/2014		3.00	\$2.00	\$6.00
0000514	10/02/2014		9.00	\$2.00	\$18.00
0000514	10/02/2014	crew	1.30	\$0.01	\$0.01
0000514	10/07/2014		1.00	\$2.00	\$2.00
0000518	10/13/2014		8.00	\$1.75	\$14.00
0000549	10/31/2014		11.00	\$2.00	\$22.00
0000551	11/07/2014		2.00	\$2.00	\$4.00
0000551		<u> </u>	10.00	\$2.00	\$20.00
0000574	11/24/2014		1.00	\$1.00	\$1.00
0000574	11/26/2014		1.00	\$2.00	\$2.00
0000575	11/25/2014		1.00	\$2.00	\$2.00
0000578	12/05/2012		5.00	\$2.00	\$10.00
0000593	12/08/2014 C	~<156	74.00	\$2.00	\$148.00
0000597	12/12/2014		5.00	\$2.50	\$12.50
0000597	12/15/201 <sup>2</sup> M		3.00	\$2.00	\$6.00

213	SNAPPER, VERMILLI	ON (B-LINER)			
Ticket Num	UnloadDat Fisherman's Nan	ne Count / S	ize Oty	<u>Price</u>	<u>Total</u>
0000601	12/16/2014		2.00	\$2.00	\$4.00
0000603	12/17/2014		14.00	\$3.00	\$42.00
0000005	12/20/2014		0.70	\$1.00	\$0.70
0000625	12/29/2014	1050	1.00	\$1.75	\$1.75
0000025		APPER, VERMILLION (B-LINER)	788.40	\$2.07	\$1,628.32
	514				

Total Quantity	Average Unit Price	<b>Grand Total</b>	
788.40	\$2.07	\$1,628.32	

## **Summary By Species**

01/01/2015 To 08/14/2015 / 213 - SNAPPER, VERMILLION (B-LINER)

WILD SEAFOOD CO. LLC. WD0189023 SERO: 2281

Printed: 08/14/2015

 Ficket Prefix:
 ZW

 213
 SNAPPER, VERMILLION (B-LINER)

 324.00
 \$1.70

 \$549.94

Total Quantity Average Unit Price Grand Total

324.00 \$1.70 \$5549.94

Ticket Num	UnloadDat Fisherman's Name	Count / Size	Oty	Price	Total
0000642	01/18/2015	1 down	31.00	\$1.00	\$31.00
0000642	01/18/2015	1/2 lbs	41.00	\$2.00	\$82.00
0000644	01/16/2015		1.00	\$2.00	\$2.00
0000653	01/24/201		2.00	\$1.00	\$2.00
0000656	02/02/2015		2.00	\$2.00	\$4.00
0000658	02/02/2015		5.00	\$1.00	\$5.00
0000661	02/05/2015		3.50	\$1.50	\$5.25
0000662	02/04/2015		5.00	\$2.00	\$10.00
0000666	02/10/2015		5.00	\$2.00	\$10.00
0000667	02/11/2015	crew	3.60	\$0.01	\$0.04
0000671	02/23/2015		4.00	\$1.50	\$6.00
0000681	03/04/2015		13.00	\$2.00	\$26.00
0000682	03/09/2015		4.00	\$1.50	\$6.00
0000691	03/13/2015		3.00	\$2.00	\$6.00
0000693	03/16/201: 6		1.00	\$2.00	\$2.00
0000704	04/03/2015		38.00	\$2.00	\$76.00
0000716	04/17/2015		1.00	\$2.00	\$2.00
0000720	04/24/2015		8.00	\$1.50	\$12.00
0000728	05/12/2015 Q	1	45.00	\$2.00	\$90.00
0000729	05/13/201		1.00	\$2.00	\$2.00
0000738	05/26/2015		1.00	\$1.50	\$1.50
0000740	05/27/2015		1.00	\$1.50	\$1.50
0000741	05/19/2015		1.00	\$1.50	\$1.50
0000742	05/21/2015	)	1.00	\$1.50	\$1.50
0000743	05/29/2015		4.00	\$2.00	\$8.00
0000758	06/12/2015		0.70	\$1.50	\$1.05
0000771	06/23/2015		2.00	\$2.00	\$4.00
0000772	06/30/2015		0.60	\$1.50	\$0.90
0000774	06/26/201:	350	7.00	\$1.50	\$10.50
0000776	06/29/201: S		2.00	\$2.00	\$4.00
0000777	06/30/201:		0.80	\$2.00	\$1.60
0000778	07/01/201: 016-		0.70	\$2.00	\$1.40
0000781	07/07/201:		0.60	\$2.00	\$1.20
0000784	07/17/201:		7.00	\$1.50	\$10.50
0000786	07/20/2015		4.00	\$2.00	\$8.00
0000787	07/22/2015		0.50	\$2.00	\$1.00
0000790	07/21/2015		52.00	\$1.50	\$78.00
0000792	08/01/2015		2.00	\$2.00	\$4.00
0000794	07/31/2015		4.00	\$1.50	\$6.00
0000795	07/31/2015	•	11.00	\$1.50	\$16.50
0000798	08/10/2015 IVIIIS NO.		4.00	\$2.00	\$8.00
0000799	08/13/2015	5	19.00	\$1.50	\$28.50
0000803	08/17/2015		14.00	\$1.50	\$21.00
0000806	08/19/201! \$		34.00	\$2.00	\$68.00

213	SNAPPER. VERMILLION (B-LIN	ER)			
Ticket Num	UnloadDat Fisherman's Name	Count / Size	Oty	Price	Total
0000808	08/20/2015		2.00	\$2.00	\$4.00
0000809	08/21/2015		56.00	\$3.00	\$168.00
	SNAPPER, VI	ERMILLION (B-LINER)	449.00	\$1.87	\$839.44

Total Quantity	<b>Average Unit Price</b>	<b>Grand Total</b>
449.00	\$1.87	\$839.44